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I aclt A3
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Test Time: 9:00 AM - 10:30 AM
Subject: RRB NTPC Graduate

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Comprehension:

YEAR | TYPE | TYPE TYPE TYPE | TYPEY
I I 11 v

2000 26 54 232 153 340
2001 45 &0 242 172 336
2002 72 79 248 210 404
2003 81 93 280 241 411
2004 107 112 266 235 442
TOTAL | 331 408 1263 1011 1033

Study the following table carefully and answer the questions given below:

fArfaf@a aifesr &1 aeaeEiyds sreaaa 1 3 AT e
AT gal H Icol &

ay Y | ll |TEg lll|e=T IV| e=T V
I

2000 26 64 232 153 340
2001 45 60 242 172 336
2002 12 79 248 210 404
2003 81 93 280 247 411
2004 107 112 266 235 442
& 331 408 1268 1011 1933

Ans

SubQuestion No : 1

Q.1 Ifthe same percentage increase in the sales of Type I vehicles in 2004

over 2003 1s expected in 2005, approximately how manv Tvpe I vehicles
will be sold in 20057
afe 9 gu esd | agal 1 FEam 7 2004 ¥ 2005 # g$

gi& 1 FEAad gfaera dgr § S 2003 ¥ 2004 7 g5 I
1 gfderd &, ar 2005 & e fohdel €189 | aige 9 STdar?

Question ID :9888374361
Status : Answered
Chosen Option :2
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X 1. 131

2o 141

X 4,139

Qp (8).html

Comprehension:

YEAR | TYPE | TYPE TYPE TYPE | TYPEYV
I I 11 v

2000 26 64 232 153 340
2001 45 60 242 172 336
2002 72 79 248 210 404
2003 81 93 280 241 411
2004 107 112 266 235 442
TOTAL | 331 408 1268 1011 1033

Study the following table carefully and answer the questions given below:

fArfaf@a afesr &1 aeaeEiydes sreaaa 1 3 AT e
AT gal H Icol &

ay TRy (el |e=g lll|e=g IV| e V
I

2000 26 64 232 153 340
2001 45 60 242 172 336
2002 12 79 248 210 404
2003 81 93 280 241 411
2004 107 112 266 235 442
& 331 408 1268 1011 1933

Ans

x

SubQuestion No : 2

Q.2 The percentage increase m sales in 2003 over the previous year was

F
52
W 3.

Type III
HMEEEIL
Type V
HMEEIY
Type Il

HMEENL
Typel

4.
ey |

maximum for which Type of vehicles.

8 €59 & agal & v fOoer av T ge=r & av 2003
gs foshr 1 gfaerd 9 sifdswaa o

Question ID : 9888374359
Status : Answered
Chosen Option : 3

Comprehension:
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Study the following table carefully and answer the questions given below:

YEAR TYPE | TYPE TYPE TYPE | TYPEYV
I i1 118 IV

2000 26 64 232 153 340
2001 45 60 242 172 336
2002 72 79 248 210 404
2003 81 93 280 241 411
2004 107 112 266 235 442
TOTAL | 331 408 1268 1011 1033

fArafafaa afee &1 aeaEgds sreaaa &1 3 A9 o
AT gl & Icca &

a¥ TRy (el |e=vg lll|e=g V| e=q V
I

2000 26 64 232 153 340
2001 45 60 242 172 336
2002 12 79 248 210 404
2003 81 93 280 241 411
2004 107 112 266 235 442
& 331 408 1268 1011 1933

SubQuestion No : 3

Q.3 In which of the following years was the Sales of Type II vehicles
Question ID :9888374358

. azor 4o
approximately 25% of the Type V vehicles? Status - Answered

g a9 a9 917 <89 || argal 6T IEar o ¢ g9 Vo digar Chosen Option :1

$T GEAT F T 25% of?
Ans o f | 2004

X 2. 2000
X 3.2002
X 4. 2003

Comprehension:
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Study the following table carefully and answer the questions given below:

YEAR TYPE | TYPE TYPE TYPE | TYPEYV
I i1 118 IV

2000 26 64 232 153 340
2001 45 60 242 172 336
2002 72 79 248 210 404
2003 81 93 280 241 411
2004 107 112 266 235 442
TOTAL | 331 408 1268 1011 1033

fArafafaa afee &1 aeaEgds sreaaa &1 3 A9 o
AT gl & Icca &

a¥ TRy (el |e=vg lll|e=g V| e=q V
I

2000 26 64 232 153 340
2001 45 60 242 172 336
2002 12 79 248 210 404
2003 81 93 280 241 411
2004 107 112 266 235 442
& 331 408 1268 1011 1933

SubQuestion No : 4

Q.4 The number of Type I vehicles sold in 2003 was approximately what

percentage of the total number of vehicles sold 1n 20027

Ans

2003 # 99 310 <189 | digat $T GEar 2002 & $° 1T dIgar

T Fol TEAT T oA b wicerd 2fi?

25110
X 2 11
X 3.9
o 48

Question ID : 9888374360
Status : Answered
Chosen Option : 4

Q5

A question and two statements labeled (I), (II) are given. You have to
decide which statement(s) 1s/are sufficient to answer the question.
Gowtham ranks eighteenth in a class. What is his rank from the last?
I There are 47 students in the class.

II. Jegan who ranks 10% in the same class. ranks 38 from the last.

AT e g 3T g Fua--(1) AR ()T 1w §) 3w 7g
ot o § 6 99 &7 3 ¢l & folv Sla-anslaa Fuaa

e 2

Fitas $r e Fam A7 ongdi g1 TS T 3adr & Far g7
I. e 3 47 ©rT &

II. S91e @ A 1047 ¥ W g, 3 3k I 9 & 384
gl

Question ID :9888374363
Status : Answered
Chosen Option :3

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click

4/25



1/24/2017

Ans

Qp (8).html

x 1 Statement II alone 1s sufficient.
 3kerr w1l gaTeg g
Statement I alone 1s sufficient.

xzaﬁfvnwlw‘rﬁd%l

‘,3 Either I or II alone 1s sufficient.
T @r | A |l 3herm gaed g

Both the statements together are needed.

X4aﬁ’r FUAA IETF L

Q.6

Arrange the given English words in alphabetical order and choose the one that comes first.
few gu sirs wsel 1 3l aviarer & #1 A =Eitad &=F g9 3 a9d qgel
H arer A A

Question ID : 9888374334
Status : Answered

Ans

ARd & ¥ & HGER, Ied AR & R SR #1 Feiaer us 8
Al S9TE @ & v Ple aEa gar §7

x The Chief Justice of India
1.
AR & HE&T =araneier
The President of India
v

* aRa ¥ wseata
5 The Prime Mimister of India
A & THTTHA
Any of the Judges of the Supreme Court

x4'3ﬁlﬂﬁﬂmﬂuf}?aﬂéaﬂu—«uﬂnﬂar

x

Ans x 1. Actuate Chosen Option :2
v 2. Account
X 3. Accumulate
< 4. Achieve

Q7 As per the Constitution of India. who 1s authorized to transfer the Judge of one High Court to another?

Question ID :9888374266
Status : Answered
Chosen Option : 2

Q8

Ans

UNITAR stands for -
g U 3E & U HR e 7 @ e @fdea v 82

F R

United Nations Initiative for Total Agricultural Readiness
Iolges oieed slaieinfed R alce Tldhenid Eed
52

United Nations Initiative for Transport Readiness

JATSCS Aed SeIRIvfed B gradie W
v 3.

United Nations Institute for Training and Research

ses e SfEecae Wi L T8 R
X 4.

United Nations Institute for Transport and Agriculture Research

Question ID : 9888374289
Status : Answered
Chosen Option : 3

Q9

Ans

Choose the most apt option.
Fruits preserved in cold storage last longer, because —

Tl I9ged [dehed e
Fles ToNoT & Glald el od THT de deld § FAid -
x exposure to humidity 1s increased
1

Gt A & w9 e

Question ID :9888374253
Status : Answered
Chosen Option : 3
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fruits are stored in a dark place

hel IOl o A W A §

the rate of respiration of Fruits 1s decreased

x more oxygen is available

4'311i‘1$3ﬁﬂ¥ﬁaﬁ3qﬂma‘l‘cﬁ%

52

Qp (8).html

Q.10 Who among the following was conferred the 2015 Sanctuary Legend Award?

Fafafaa # & dagll ofiels [WErR-2015 A gFATfd R arn?
Ans Ashok Kumar

Question ID :9888374262
Status : Answered
Chosen Option :1

',1'313113?@“

) Varad Giri
e @l

5 Viral Joshi
fage aefr
Anurag Kumar

F 3 ORI BT

x
<

Q.11 Which of the following is equivalent to 056 ? (the bar indicates repeating decimal)

fAefaf@d & @ Fla-ar 056 & R &7 (IR AT B RIgRka & aufdr #1)

Ans «1E

29

Xz 56

1000

Xs@

S0

x4 56

100

Question ID : 9888374297
Status : Answered
Chosen Option :1

Q.12 Rearranging the letters “AKBLU™, we get the capital of

“AKBLU" & 31aRT &1 qaedaieed atel W I5 ger &r

TATT FoT AT g1
Ans Afghanistan

‘,1'3ﬂﬂnﬁlﬁlﬁr

Bahrain

K2

Question ID : 9888374353
Status : Answered
Chosen Option :1

Q.13 In2015. a special semi-luxury train covering Jaisalmer, Jodhpur & Jaspur was launched by the IRCTC.
What 1s the name of this train?

FEHRAERT e@mr a¥ 2015 H SHeL, a9 3 Fa9L gl A= arell U a9y
FHT-AEA & F AT S off) 3 ST T A A §7

Ans « 1 Desert Circuit
39ic e
Desert Queen
S AT
Rajasthan Darshan
ST golet
Fajasthan Queen

K2
X3
X4IIEI?EI1FTEI—T:1’IH

Question ID : 9888374280
Status : Answered
Chosen Option :3
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Q.14 Fy
Find the HCF of 3341 and 3328. Question ID : 9888374300
3341 gur 3328 =T HeHe FATd HITAT]| Status : Answered
Ans x 1. 257 Chosen Option :2

v 213
< 3.337
< 431

Q15 Hema takes a total of 9 hours 55 min to walk a certain distance and then cycling back to the same place
from where she had started. She could walk both ways in 12 hours 30 min. The time she will take to cycle Question ID : 9888374309
both ways is: Stat A P
T T gt 1 ded o7 A R WERRE § aE yEer TR W A # g 9 alus - Answere
w5 55 e &1 W o ¥ 9% ot AR @ e 4o 12 € 30 fee & aw a Chosen Option :1

el §1 Al 9 Gl AR F1 AEAT 9T He 37 3 Fel el TAT FaI?
Ans 7 hour 20 min
v

1.
7 Her 20 @ec
x 7 hour 15 min

2.
7 der 15 @ac
x 7 hour 45 min

3.
7 Her 45 @eac
x4 7 hour 35 min

7 der 35 THec

Q.16 Inafood chain, what is the difference between primary consumers and secondary consumers?
TS Wie ATen # wAHES Iusiaanit s gfadae susieanit & s e 32 Question ID : 9888374273
Status : Answered
Ans x 1.

Primary consumers eat plants and other consumers; secondary consumers eat plants and decomposed Chosen Opthn 2
matter

grerfEe Iqeiiear qter 3R e susieant # @ §; efades Iusier dter s
Fuefed geret @it

52

Primary consumers eat plants and decomposed matter; secondary consumers eat plants and other
COonswmers

g susiiedr dlel T safed gerd @ § afadrre susiear 9t st e
UAFATHT B @ §

F 43

Primary consumers eat other consumers; secondary consumers eat only plants

qIAfAE IUAFAT ey IuFd H @id §; gadad IUHFD haa d @

W 4

Primary consumers eat only plants; secondary consumers eat primary consumers

grafiE 3usiear Fael gt @ §; gfadee ITeiedr graiEe et # ad §

Q17 Who discov 2
o discovered Electron? Question ID : 9888374278

E'.ﬁai}f?l' $T @t fohaer &1 ofr? Status : Answered
Ans Ernest Rutherford Chosen Option :3
X et e
Niels Bohr
* how A
J. I Thomson

3' A
o, o gGrHEA
Albert Einstein

54 5 s

x
v

Q.18 Which Schedule of the Constitution of India lists the States and Union Territories of India?
ARd & Hfaud & Fq-8 g ARa F Todt 3 Fu affa gl w1 gdes Question ID : 9888374265
Fr &7 Status : Answered
Ans Third Schedule Chosen Option :3

X vty e
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Fourth Schedule

P e srogeeh

_ First Schedule
V'3 el srerrEr
Second Schedule

7 oty v

Qp (8).html

Q.19 Which of the following 1s a device designed to protect electrical devices from voltage spikes?
o # ¥ FiA-a1 3T RO & 3T B Aol # IR g are gedl |

Ans Heat protector

XL?.’IE

‘oltage unloader

Za’lﬁaaﬁﬁﬂﬁ

Current unloader

" Fte IR

Surge protector

e o

<
<
v

Question ID
Status
Chosen Option

19888374274
:Answered
1

Q.20 Each exterior angle of a regular polygon measures 9°. How many sides does the polygon have?

U wHEgHS A Yole S R0 9° B 30 weEges A el f dear fhadh 87
Ans X1-36

< 230

X 345

v 440

Question ID
Status
Chosen Option

19888374320
:Answered
14

Q21 Vishnu travelled equal distances at speeds of 10 km/hr._ 30 kin/hr.. and 8 kmn/hr._ and took a total of 15.5
minutes to complete. Find the total distance he travelled, in km_

Tawop s 10 fEeieer, 30 freiveer aun 8 fasiaer &1 arer & auet gl aa w4
gU &el 155 flde &1 e wtar ¥1 36% c@mn qu F g Fo gl el A aa
rfarg|

Ans 15
X 2.1
V33
X 44

Question ID
Status
Chosen Option

19888374310
:Answered
:3

Q.22 Abhinav Bharat Society of revolutionaries was organized by -
Fifderat 1 Frem #E=T IR FT 96 g6 IRT AT I o -
Ans X 1 Mahatma Gandhi
HGICHAT JTeft
Bhagat Singh

: Vinavak Savarkar

faeras gratsht

Jawaharlal Nehru

4'aa1awﬁﬁ

X2
v
x

Question ID
Status
Chosen Option

19888374290
:Answered
:3

Q.23 Mr. Kiran sold a bus for Rs. 18.700 at a loss of 15%. At what price should the bus be sold to get a profit
of 15%7?

foToT & 15% &Il 9X 18,700 9 & U oF 91 15% @y 9=t & fov 38 3§ a9
F fFE Aeg W Faar afgel

Ans . Rs 25300
Y & 25300

Question ID
Status
Chosen Option

19888374314
:Answered
1
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52

53
F 3

Rs. 25,523
®. 25,923
Rs. 25,522

F. 20,022
Rs. 25,521

T 29,021

Qp (8).html

Ans

F R

Y &3

53

54

Q24 In October 2015, more than 350 landmarks in more than 90 countries were lit blue, the official colour of
the United Nations. What was the occasion?

AT 2015 & 90 ¥ i & 1 350 ¥ HfiT FecaTo SR # wUFa Tg @9
& nfiemte  wiier T & yeifRid fohar amar o1 98 6 seet ox fRar amr ar?

90% Anniversary of United Nations
TYFd g @1 90dT avars
70t Anniversary of United Nations
HgFd g @1 70T avans
60% Anniversary of United Nations
TYFd g @1 60dT avans
50% Anniversary of United Nations
TYFd g @1 50dT avars

Question ID : 9888374244
Status : Answered
Chosen Option : 2

Ans X1-

2.

54

Q.25 ‘Which of the following countries launched the World’s most powerful GEO Spy Satellite — the “Gaofen
47

frafafad & & e a3 g & aad A o § 3 AR 3T i
4" & garger far?

Bussia
*H
United States of America

HFd T AR
China

G

India
AR

Question ID : 9888374263
Status : Answered
Chosen Option :1

Ans  of 1.
52
F 3
X 4.

Q.26 Complete the analogy
3:11:

TTET Bl I
3:11::7:

T

51
29
18
24

Question ID : 9888374330
Status : Answered
Chosen Option :1

Ans

v

K2

F 43

Q.27 Who among the following is the current Lokavukta of Delhi?

et A 4 eoell & ad#AE olhrgad Hiad §7?

Justice Reva Khetrapal
ERHNEIRIRG RCELIC]
Justice Manmohan Sarin
SORIHIA AHge Gl
Justice Mohd. Shamim

AT AL 2

Question ID : 9888374288
Status : Answered
Chosen Option :1
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Justice Rajendra Nath Aggarwal

X4'Wﬁﬂéﬁmﬂm

Qp (8).html

Q.28 A shopkeeper cheats to the extent of 10 % while buying and selling fruits, by using tampered weights.
His total gain_ in percentage, is:

afE 1 GFEER B WG 3 IEer F FA dta & e wE 10% @
& &, o 3@ o ameT giowd § ¢

Ans 1.2
X224
V'3 21
X423

Question ID : 9888374315
Status : Answered
Chosen Option : 3

Q.29 A woman invests Rs. 2000 at the start of each year at 5% compound interest per annum. How much will
her investments be at the end of the 22 year?

e AR yodd a¥ F1 gwd A 5% aifiis &1 wehgfe sare g1 9 2000 F9A 1
e &l 1 gEy af & 37T F 37 For Waer e gome
Rs. 4355

K& 4355
4305
4305
430
430

4350

4350

Ans
v B

LR

x 3 Rs

3

x 4 Bs.
.

Question ID :9888374321
Status : Answered
Chosen Option : 2

Q.30 Ifa Panchayat 1s dissolved, elections are to be held within -
afe; @I gurad #1391 g1 e ot ged gl Sl 91fge -
Ans Two months from the date of dissolution

K i @ B A @ A TR ¥ i

Twelve months from the date of dissolution
2. . .
a7 glel 1 ai@ ¥ dRg HAglel & 3igl

One month from the date of dissolution

3. . .
a7 glel & diid & TF HglA & 3ig]
Six months from the date of dissolution

" stT oW #r o ¥ oF FET F I

x
<
v

Question ID : 9888374254
Status : Answered
Chosen Option : 4

Q.31 In 2015, the United Nations Climate Change Conference was held at -
¥ 2015 3 FYFT US¢ FAarg TRacs gEere Jgf smnfea fmar g e -

Ans Paris

v

afte

Doha
?(2.:

Montreal
K3

Hifg e

Copenhagen

54

Question ID :9888374287
Status : Answered
Chosen Option :1

Q.32 Who among the following 1s the current CEOQ of NITT Aayog?

fifd smaeT & aane o § 31 Feef@Ea 7 8 #la 872
Ans Arvind Panagariya

X1'31¢ﬁﬁqmr%m

Question ID : 9888374261
Status : Answered
Chosen Option : 2
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Arvind Subramanian

52 fie §

Amitabh Kant

W 3. Sindhushree Khullar

x4'1ﬁg}>ﬁqm

Q.33 Which of the following 1s the first country to become Carbon-Negative?
o & & Sle-ar & UgeT FEA-Hafed &er 41 82
Ans x 1 Canada

Question ID : 9888374257
Status : Answered
Chosen Option : 3

hellST
United States of America
2. .
TgFd T AT
J s Bhutan
G

K4

Poland
qrels

Q.34 Mr. Mike borrowed Rs. 8500 at 4% per annum compound mnterest. The compound interest compounded
annually for 2 years 1s:

g AwRE ST B 4% AMGE e 9 8500 FHY FUR AT F1 2 a9 1 awdiE
STl T BN AT =2rel arfiish @AfoIa ghar 87

Question ID : 9888374312
Status : Answered
Chosen Option : 3

Ans Rs 91936
'® 9193.6
Fs 6396
‘¥ 639.6

Bs 6936
Vi 6936
BFs 913958
'F 9139.6

0.55x45 5
081

”7-55 ;‘14-5 I HIeT FAT &7

.35 .
Q What 1s the value of

Question ID : 9888374296
Status : Answered
Chosen Option : 4

Ans 55
1. =

v s

X 2308

55

3. =

< =

< 4. 3555

@3 Simplify: (2x)° —(2y)° —(4x)"
el i :(2x) —(2y) —(4x)

Question ID : 9888374318
Status : Answered
Chosen Option : 4

Ans XK 112004y

<2 120°+4y?
X3 _12v' 4yt
Vi 128 4?

Q.37

Question ID : 9888374351
Status : Answered
Chosen Option : 4
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Ans
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Below are given statements followed by some conclusions. You have to
take the given statements to be true even if they seem to be at variance
with the commonly known facts and then decide which of the given
conclusions logically follow(s) from the given statements.

Statements :

All poets are readers. No reader 1s wise.

Conclusions:

I : No poet 1s wise.

II : All readers are poets.

A F@ wUd IR I fAved QU A §) 39 s Fur
FI T AAAT § T & § TAAd: Ad azdr ¥ & aod
gl, 3 X ¥ @ @ § & U av #la-d foeed sa
FAT @ dlfdhe €T F GTeTsT Fd gl

YA

@t &f Only conclusion IT follows.

mﬁéé aer fesey || grele &dr gl

| - w1 Both conclusions I and TT follow.

||?:<Hza-2fﬁfﬁﬁﬁr[ | 3 1l gt grele &dd g1
Neither conclusion I nor IT follows.

3.
x o ar sy | 3T 7 & Il 9res Far gl
_ Only conclusion I follows.
v

4'%ﬁﬁﬁﬁn‘rlmﬂﬂﬂﬂﬁrﬁl

Q.38

Ans

Mr. Murthy invested Rs 16,000 in a scheme. How much will he get on matunty, if he invested it at 20%
per annum compound interest for 9 months, compounded quarterly?

Afd w dretar 7 16,000 T AU AT 81 9NFEar g 9T 3 Fel Fhaer afar
gred ghft, I 36+ @g o=l 9 AEr & fow 20% aiffs wwgfz sare 1 gr W
Toraer #1 § 3R sarer foaer s@afaa gtar 82

Es 18521

& 18,521
Fs 18322
& 18,522
Rs 18523
& 18,523
Fs 18324

& 18,524

Question ID : 9888374313
Status : Answered
Chosen Option : 2

Q.39

A question and two statements labeled (I), (II) are given. You have to
decide which statement(s) 1s/are sufficient to answer the question.

What is Guna’s age?

I Guna, Vinay and Keshav are all of the same age.

II. Sum of ages of Vinay, Keshav and Arun 1s 32; also Arjun 1s as old as
Vinay and Keshav together.

A e g 3R g Fud-—(1) IR (I)-w v & 39w 78
oot o § @& 5@ 9ed & 3o} & & fov slaarslaa

Fod AT B/l

AT T IR FAT §?

I. 317, faear 3R e A=t gEE 3T & E)

Il. Taerr, sherd 3T 3fele T 33 &1 AET 32 §, 3R e
1 3 @eTa v FAT T I F AT F R/ L

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click

Question ID : 9888374362
Status : Answered
Chosen Option : 1
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Ans _ Both the statements together are needed.

v

clel ol 3Tagas gl
Statement II alone 1s sufficient.
ne2 3iehell e || gaed gl
Either I or II alone are sufficient.
x3'ma’rlmllmw‘ﬁrﬂl
Statement I alone is sufficient.

x4'3ﬁf»rrwlw‘rvcr%|

Q.40 In2004, NASA launched the Messenger Spacecraft to study -
a¥ 2004 F AT A WG T HeATT F F T A siatere vafa Question ID : 9888374281
o am| Status : Answered

Ans Pluto Chosen Option :3

X1"$|t’r

L%

Jupiter

Jeaiad

, Mercury
T

e

Saturn
F 3 ol

Q.41 The Ajanta Cave Paintings are a testimony to the golden age of 1n India.
3tsiar [ & fod aRa 7 & T I & GAIT g

Ans X 1 Vaishnavism
5 Sharvism
da-duerr
. Buddhism
dlg emT

Jainism
F 3 S e

Q42 A mobile plan costs Rs 32 for 6 minutes. What is the approximate cost. in rupees, for 4 minutes?
afe vk HaEd o # 6 HAc # g 32 w0 §, dr 4 fAede i FEg e A Question ID :9888374304
ST AT gei? Status : Answered

Ans 1 1.21.30 Chosen Option :1

< 2. 2150
X 3.21.20
X 42140

X 2.

v

Question ID :9888374271
Status : Answered
Chosen Option : 3

x
v

Q.43 Type of a file in a computer can be identified by the

FOIT 3 frell BIEe T IR SEF & TEEE ST @ B Question ID :9888374275

Status : Answered

Ans 1 {
X 1 File size Chosen Option : 4

IS IS

File path
ISl 91

Folder name

3.
qﬁllvﬂl dqlH
File extension

N HISe UFHCRl

K2
<
v

Q.44
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The Mahabodhi Temple Complex, which is one of the four holy sites related to the life of the Lord Question ID : 9888374260
Buddha, 1s located in -

A 98 F ol 4 TErOd AN ofaT Tt # ¥ wF Agmie ARGy oRwR #Et Status : Answered
Ans o 3  Tamil Nadu Chosen Option : 2

x1'a1?ﬁﬁ?|1§

Delhi

feeelr

Karnataka
Fellcd

Q.45 A water tank has two holes. The 1% hole alone empties the tank in 9 minutes and 2% hole alone empties
the tank in 6 minutes. If water leaks out at a constant rate, how many minutes does it take if both the Question ID : 9888374306
holes together empty the tank?

el & v & A 2 g €1 ugen By ¥ H Fher 9 e # @relr war g AR ]
cau g EF #1 arbar 6 Aae A @il Far g1 afg 9l & s fr o T e Chosen Option :4
ar gt B ¥ v @y e g W iF frad e A @l g seen?

Ans X1.3l
5
Xz.s‘;‘_

3
3.
X3 2
Vi3t

X 3.
54

Status : Answered

Q.46 In which coast was the World’s largest Marine Protected Area (MPA) created in October 20167
FHeFgat 2016 3 glaar #T a3t asT WA WET &7 (W1 9 v) a de woaEmr Question ID : 9888374258
T ar? Status : Answered

Ans Antarctica Chosen Option : 1

v <

Q47 is 159 7
What 1s 15% of 347 Question ID : 9888374319
34 &1 15% 1 §7 Status : Answered
Ans x 1.5 Chosen Option :2

V251
X349
X452
Q.48 How many Indian States and Union Territories share the Indian coastline?
e i s @ T Question ID :9888374292
7 HH <MRC ga-dc 3ic &7 Status : Answered

Ans 12 States and 3 Union Territories Chosen Option :2

x1'12ﬂ?&3ﬂ13manﬁmqﬁﬂr

9 States and 5 Umion Territories

2'9m3ﬂ15ﬁﬂanﬁﬁlﬁ‘3ﬁ&r

5 States and 3 Umon Termtories

3'5m3ﬂ13'ﬁﬂanﬁﬁ9ﬁw
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Q49 Find the similarity among the following:
Makar Sankranti, Pongal, Lohr, Baisakhi
P=taf@d & 9 gHear &

Ans x . There 1s no similanty at all

g @ A FIg A w6l &

( All are names of harvest festrvals
2.

sl vad 6T FeE & dEfad AER §

All are festivals of North India

X?"Hsﬁsﬁw:m?rﬂqﬁ:l’mﬂ%
X 4.

All are festivals celebrated 1n the month of January
Tl SeAadl & HAgl H HAAT oA drel Al &

Question ID : 9888374343
Status : Answered
Chosen Option : 2

Q.50 Which team won the 2015 Pro Wrestling League title?
fohe & o 2015 o el offer &1 f@dE Siar?

Ans Harvana Hammers

x Bengaluru Yodhas
3.
elE AarE
X a P_unjab lipya.ls
Jalld {1 ed

Question ID : 9888374248
Status : Answered
Chosen Option :1

Q.51 If the signs “+’ and‘+"and the numbers “2° and ‘4" are mnterchanged, which one of the following four
equations would be correct?

Ifg feer '+ 3T+ F g TEwr 2 ud ‘4 F T WEH g6l 61 Srar g, dr
ram@T IR afeon § ¥ Fia-ar agr gen?

Ans o 1 2+4+6=8
X24+2+3=6
X3 4+42+6=15
X42+4+3=3

Question ID : 9888374340
Status : Answered
Chosen Option :1

Q.52 Which is the correct ascending order of the given numbers?

& R dEmst & e A F O #la-ar 3y s agr 87

A
" X1l t
3 15

X212 on
315
4 1
3.033 .4
X 15 3

v 4 i, 0.33 ,l
13 3

Question ID : 9888374295
Status : Answered
Chosen Option : 4

Q.53 All rational numbers are numbers.

Tsfr oA gward e §)

Ans

Question ID : 9888374299
Status : Answered

Chosen Option : 2
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Q.54 IFENTRY is coded as 98462 and STEADY is coded as 749312, then how is NEATNESS written in that

code? Question ID :9888374338
afg wF FIF amWT A ENTRY F 98462 wad STEADY & 749312 & 7 # foam

ST g, df 39 @iz & NEATNESS &r && @ smean?
Ans  of 1 89348977
< 2. 89349877
< 3. 89648977
X 4. 89438977

Status : Answered
Chosen Option :1

Q55 In 2015, which of the following banks was the first bank to tie up with Indian Railways to sell rail tickets
through their website? Question ID :9888374267
2015 & ol & @ Fia-ar 36 A9 d9uEe & Aregd U i@ The S99 F v

AR I F W 5 e gger 3% a4r?
Ans X HDFC Bank
g 3T UF O I
 ICICI Bank
Y s @ s o s 3
Punjab National Bank
X3
ISTd STel dh
State Bank of India
s ree d% 3P siEar
Q.56 Two numbers are in the ratio 3:5 and their HCF is 20. Their LCM is
Ay ar TEAS M I 3:5 qAT Ao He 20 §, @l IAF oo Ho &
Ans x 1. 60
v 2300
< 330
X 410

Q57 Optical fiber works on the principle of - Question ID : 9888374252

Jitfcesar EOEEES Qﬂa; Agid 9T FeT Far ?; - Status : Answered

Ans x . Diffusion Chosen Option :3

faagoT
Refraction

JELCRT]

. Total Internal Reflection

V3 S ‘

X 4 Scattering

gehrofe

Q.58 IfA denates +, B denotes x, C denotes + and D denotes —, then which of the following statements is
true? Question ID :9888374339

afg A @ +, B @@ %, C g + a0 D @M — Hehfad g, af S8 & Fher-ar
FAT TH 7

Ans of 1. 9C9A9D9IB9=—T71
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Status : Answered
Chosen Option : 2

Question ID :9888374302
Status : Answered
Chosen Option : 2

K2

Status : Answered
Chosen Option :1
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. 38
X 211B34A17D 8A3=—
. 173
X3 6B18D26AI3CT= —
13
E 3
X a 32C8A16D4=—7
Q.59 1 : ; e 7
Which of the following 1s the religious text of the Jews? Question ID 9888374284
fArT & @ agfeat f1 aifds frae Sla-dr g7 Status : Answered
Chosen Option :1
Ans wy Torah P
X 2 Tripitaka
EIE[ET
X3 Dhammapada
gFHYG
. Guru Granth Sahib
X 4. T Ter Triar
Q.60
; tion ID : 9888374305
Ans x 1 Question
Status : Answered
x 2. Chosen Option : 4
X 3.7
v
Q.61
; tion ID : 9888374365
Ans x 1 Question
Status : Answered
I 2. Chosen Option :3
X3
x4
Q.62
tion ID : 9888374259
Ans ( 1 Question
Status : Answered
x 2. Chosen Option : 1
X 3.
X 4.
Q.63
; tion ID : 374272
Ans x 1 Question 9888
Status : Answered
X 2. Chosen Option :2
v
54
Q.64
. i D: 742
Ans X 1. Question ID :9888374255
Status : Answered
v Chosen Option :2
X3
F 3
Q.65
i D: 74
Ans “ 1 Question ID :9888374333
Status : Answered
X 2. Chosen Option : 1
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X s
54
Q.66 Question ID :9888374301
. estion ID :
Ans x 1. -
Status : Answered
x 2. Chosen Option : 3
Vs
X 4.
Q.67 Question ID :9888374250
. uestion ID :
Ans x 1.
Status : Answered
“ 9 Chosen Option : 2
X 3.
54
Q.68 Question ID :9888374329
uestion ID :
Ans “ 1.
Status : Answered
x 2 Chosen Option :1
X
54
Q.69 Question ID : 9888374251
_ uestion ID :
Ans X 1.
Status : Answered
x 2 Chosen Option : 4
X
v
Q.70 Question ID :9888374282
. uestion ID :
Ans x 1.
Status : Answered
x 2. Chosen Option :3
v
54
Q71 Question ID :9888374316
estion ID :
Ans “ 1. -
Status : Answered
x 2. Chosen Option :1
X
54
Q.72 Question ID :9888374308
. estion ID :
Ans x 1. -
Status : Answered
x 2. Chosen Option : 3
Vs
X 4.
Q.73 Question ID :9888374328
estion ID :
Ans J 1. -
Status : Answered
X 2. Chosen Option : 1
X 3.
X 4.
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Q.74 Question ID :9888374341
. estion ID :
Ans x 1. -
Status : Answered
x 5 Chosen Option : 3
&
X 4.
Q.75 Question ID :9888374303
. estion ID :
Ans x 1. -
Status : Answered
x 9 Chosen Option : 3
v
54
Q.76 Question ID :9888374345
estion ID :
Ans ¢1_ -
Status : Answered
X 2 Chosen Option :1
X 3.
54
Q.77 Question ID :9888374342
. x . uestion ID :
Status : Answered
X 2 Chosen Option : 3
X
o3
Q.78 Question ID :9888374326
o X . uestion ID :
Status : Answered
« ] Chosen Option : 2
X
54
Q.79 Question ID :9888374298
- x . uestion ID :
Status : Answered
x 5 Chosen Option : 3
&
54
Q.80 Question ID :9888374364
uestion ID :
Ans “1,
Status : Answered
x 5 Chosen Option :1
X s
54
Q.81 Question ID :9888374325
. estion ID :
Ans x 1. -
Status : Answered
x 9 Chosen Option :1
X s
v
Q.82 Question ID :9888374243
estion ID :
Ans “1_ -
Status : Answered
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X 2 l Chosen Option :1
X 3.
54

Q.83

Ans Question ID :9888374291
x 1. Status : Answered
“ 2. Chosen Option :3
X 3.
X 4

Comprehension:

SubQuestion No : 84

Q.8
4

Ans x1.
v 2
53
54

Question ID : 9888374348
Status : Answered
Chosen Option : 2

Comprehension:

SubQuestion No : 85

Q.8
5

Ans  of 1.
52
53
54

Question ID :9888374350
Status : Answered
Chosen Option :1

Comprehension:

SubQuestion No : 86
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Q.8
6 Question ID :9888374349
Ans X 1. Status : Answered
) Chosen Option :4
X 2.
X 3.
v
Q.87
Ans “ Question ID :9888374249
l Status : Answered
x 2. Chosen Option :1
X 3.
x4
Q.88
Ans “ Question ID : 9888374346
l Status : Answered
x 2. Chosen Option :1
X 3.
54
Q.89
Ans - Question ID : 9888374245
x 1. Status : Answered
x 2. Chosen Option :4
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X
v
Q.90 Question ID :9888374311
estion ID :
Ans « 1. -
Status : Answered
x 2. Chosen Option : 1
X 3.
X 4.
Q.91 Question ID :9888374285
uestion ID :
Ans ( 1.
Status : Answered
X 2 Chosen Option : 2
X
54
Q.92 Question ID :9888374337
uestion ID :
Ans “ 1.
Status : Answered
x 2 Chosen Option :1
X
54
Q.93 Question ID :9888374246
. uestion ID :
Ans x 1.
Status : Answered
x 2 Chosen Option : 4
X
o
Q.94 Question ID :9888374276
. uestion ID :
Ans x 1.
Status : Answered
x 2. Chosen Option :3
v
54
Q.95 Question ID : 9888374336
. estion ID :
Ans x 1. -
Status : Answered
x 2. Chosen Option : 4
X s
v
Q.96 Question ID :9888374264
estion ID :
Ans “ 1. -
Status : Answered
x 2. Chosen Option :2
X 3.
X 4.
Q.97 Question ID :9888374317
. estion ID :
Ans x 1. -
Status : Answered
X 2. Chosen Option :3
v
54
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.98 Question ID : 9888374269
; uestion ID :
Ans x 1.
Status : Answered
x 2. Chosen Option : 3
v
54
.98 Question ID : 9888374247
estion ID :
Ans f 1. uest
Status : Answered
x 2. Chosen Option :1
X 3.
X 4.
Q.10
0 Question ID : 9888374322
Ans X1 Status : Answered
. Chosen Option : 3
X2
&
54
Q.10
1 Question ID :9888374327
Ans ( 1 Status : Answered
. Chosen Option : 1
X 2
X 3.
54
Q10
2 Question ID :9888374307
Ans x 1. Status : Answered
Chosen Option : 2
V2
X s
54
Q.10
3 Question ID :9888374294
Ans X 1. Status : Answered
. Chosen Option : 3
X 2.
v
54
Q10
4 Question ID :9888374279
Ans “ 1. Status : Answered
. Chosen Option : 4
X2
X 3.
X 4.
Q.10
5 Question ID : 9888374335
Ans  of 1 Status : Answered
. Chosen Option :1
X 2
X s.
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X 4.
Q.10
6 Question ID :9888374277
Ans ( 1. Status : Answered
. Chosen Option : 1
X 2.
Xs.
X 4.
Q.10
7 Question ID :9888374332
Ans  of 1. Status : Answered
; Chosen Option : 1
X2
X 3.
54
Q.10
8 Question ID : 9888374286
Ans X1 Status : Answered
. Chosen Option :1
X2
X s.

Comprehension:

SubQuestion No : 109

Q1

09

Ans X 1.
<2
53

Question ID :9888374355
Status : Answered
Chosen Option :4

Comprehension:

SubQuestion No : 110

Q1
10 Question ID :9888374356
Ans ( 1. Status : Answered
) Chosen Option :1
X 2
X s
< 4.
Q11
1 Question ID :9888374323
Ans x 1. Status : Answered
Chosen Option : 2
V2
X 3.
54
Q11
2 Question ID :9888374344
Ans X1 Status : Answered
Chosen Option : 3
V2
X s.
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54
Q11
3 Question ID :9888374283
Ans ( 1. Status : Answered
. Chosen Option : 1
X 2.
Xs.
X 4.
Q11
4 Question ID :9888374324
Ans  of 1 Status : Answered
; Chosen Option : 1
X2
X 3.
54
Q11
5 Question ID : 9888374256
Ans X1 Status : Answered
. Chosen Option : 4
X2
X s.
v
Q11
6 Question ID : 9888374352
Ans x 1. Status : Answered
Chosen Option : 2
V2
Xs.
X 4
Q11
7 Question ID :9888374331
Ans v 1. Status : Answered
‘ Chosen Option : 1
X2
X s
X 4.
Q.11
8 Question ID :9888374293
Ans x 1. Status : Answered
Chosen Option : 2
V2
X s
X 4
Q11
9 Question ID :9888374270
Ans x 1. Status : Answered
" Chosen Option : 1
X2
X 3.
-
Q.12
0 Question ID :9888374268
Ans o 1 Sta.tus ::nswered
QasaaQation :
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x 2 L )

X 3.
54
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